Review Unit 1

1. Label each digit below, then say how many sig figs are present
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2. Perform the following calculations. Answers must be in the correct number of sig figs and units.

a) 7.23mL +44ml=_ 1, e vl b) 57 cmX30.0ecm=__1700 o
¢)_6.02x10 % particles=_ 31,700 s d) 1.000g-0.944g=_ .05 7
1.90 x 10 * part/mol 1.000 g A
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3. How many grams are in 2.0 kg? f*':’; -
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4. How many joules are in 352 calories {1 cal = 4.184 J)
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5. A person stands 1.88 m tall, how many centimeters is this?
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6. Gold has a density of 19.32 g/cm®, what is its density in pounds per cubic inch?
(1lb=454g) and (1in=2.54 cm)
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7. Give the units for mass, volume, and density. Given {} = =

-, give the algebra equations for solving
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for mass, for volume.
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8. Calculate the density of an object with a volume of 21.65 cm® and a mass of 57.7 g.

Given info: formula: ] —
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Solving for: answer: s
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9.  What volume in liters will a 29.6 g sample of a metal occupy if it has a density of 5.15 g/cm®?
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Solving for: answer:
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10. Give either the volume or temp readings with the correct sig figs and units
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